st A EERE [ FHHNETLEOXE] R6.12.068% &

.ﬁﬁﬂyk;?\:(/\x ?#j{/\»{/\x R18 XTI o @%B,Eiﬂgli Ra
Lo P BB AR )1 ~ B R D= Eéﬂih@{“ﬂ':) R17 AR R SR~ FE B
OBRME R1s L=33.6km HIHBT IR o R ~ iR S L=19.1km

EHm Rk ~ 2 RmE5R L=12.0km

—

i

1=23.7km ] g
L& b H;¥ 1=
N, )~ BEBX R17 AL
~ l,i' h N l,b [A) NA? 1= 59 f F
[ ENmLEtaH~3 EElﬁi%ffEEBT

[Ate-7: =
ERME R19 L 14.8km
,z’..’jsb 0% HE LG G Hh gt V)v LA LW3LAES U [F50 AL "
ZEHHAR P FE~REHIEMHETEIRE
1=33.4km

BXFEEER

@ﬁuﬁmﬁk YiE R50

B BHESLA
Al

THS TS ST ~ 7.8 Y i 2 BT B

|;m

K!_\

¢

./J\u%ﬁﬂ§‘~/\%:$.§.—ﬁi1ﬁli E52

INEET 0% B8 ~ A TR
L=21.8km

ol

LEEEHEE

o

/. v LEBREREE
9
' 4
2
.
g -
/J hREHE :
r./ @J:Eﬂ? EﬁJ-I\IimI: JR20_ ——— /
EB R EHR~ RNt A | | R & 5 4
WERBE R0 assm BEBE DT BHEI"]J_ T DXL
BamFiR/ L~ERHIERE : “
L=9.1km - E’IJ . II\\
Y
B 53 swocas,
155 &% 5 C 7 2 PREFHEE
E'Ellﬁ :Il:*iiﬂ_’.x %iﬁ.ﬂ![ R20 : [ B-WE
LA L DL D BB D L #6MhEE M b \ e
iEllﬁfﬁ ‘J"é EEHHENIIKAR /1
L=42.5km 7/ ' -
- § ) Fame
Y £~ =smmewms |
.ﬁ“lw inlﬂbl: R52 r ; T ) A | * " ) somon |
Bh R b5 Fh 56 SBEPEEL 3 / ﬂ*ﬁ Y A N ERENER
ﬁ%ﬂWTE/R'V :t”lET *HHET P B aEE A =
L=50.8km Py { o~ b y - = A—— /
—~ _ Ry, ¢ 7~ ':?e P
Y ﬁ/ { LAl :x\ﬂnn j
al \ ;
D _ e o LJ , .*i*EE xﬁlfﬂzl: 139
:t*EEFﬁ'F*EE iﬁFﬁiHZTE
L=18.4km
EHED ALTS
@Viﬂégﬁz/\gﬁﬂ?ﬁmﬂ:hgszn HOIED @ﬁj%&ﬂﬂiﬂ: R138 ‘
BT AR ~ T )| = 4R = R .q%,}\{t«(%[ﬁmgg R IJ.IE';'J;Eﬂﬁ:FE? o - o
L=28 4km B+ OB R £ S~ 18R4T | | L=2.9km TG E I B ME R
L=15.0km * Fr— X E




HREMAERRD [ FHRNBTIEOXE](FEEIEKEX) R6.12.0685 &

<EHP b5 12

@ﬁg‘@BPﬁEIC""B R17 b

LBRBEEEE

DT ol

@?ﬁ)ﬁﬁmt _R16 i @‘:ﬁiéja R298
M xR E3) MHTZ  BAE
TR 3 E S BT ~ 1 et Ml mimEa
L=4.1km L=0.9km
| HEEbE
@.—:Eﬂbl: R16 EREHEE
J\Fa‘iﬂill\%‘ﬂi~)\|’aﬁ’rﬁ,ﬂ$m
L=2.3km

DREFS/SR BIE
THAEIR mﬁEn*§$ET~/\£¥'rﬁ—'l'—,$7l<ﬂ?T
1L=10.0km
_ RERBHEE
li/vl':_vgf *ﬁﬁ
@B@?Ef A Lp<s, RZO HEHHEND
[T {EWTZTE"'/\E?T‘Eﬁ/%JII
1=21.6km
I
BB L H E3F 3F5
MAZKIE R20 - _ 018 R357
@585 L #H#usabssHb & DHFD HEY ) Z & M YAMNEES Z3&5 LA = (£
NEFHmRI~ R RR AR SIAII=EEHT ~ TR X # A5
L=7.9km =2.8km
.
@fﬁl MK R246 — /
i AR ~ L e T 1 %RﬁggRﬁ7ﬁwu
~ i
1=76.3km R ~ 7lfm B~ KRR AR
FRILER —
FS B LA ES
DFERHE R1
1xZ §E~V1’ He 3 B FHEI R
FIRET A ~ FE R BT F54R H#EPR
L=13 8km R EEE
=g
‘ 1 @éﬁmtaigz 1 =3 o ZoED
| T | mEgmERirs s~ A
g L=37. 4km
TR ER
%,Lf \(/8R R1
BEVEELD: ﬁ‘LE;? [ZOHOFESL (ZOHL
% Wiﬂﬁ =i
L=6.1km
@ﬁéj:/re/\«r/\z Ri6 I @%E’\'fju IP R3T o s o

BRIt o ARy B ~ AT A — T B || SRS R R K5 58~ W R A 5.8 P
L=15.9km L=3.9km SI6FEEHREME R




	スライド 1
	スライド 2
	スライド 3
	スライド 4

